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Q-1 Answer by selecting the appropriate options from the following: (08)

1. Who says industrial sociology will cover all sociological studies along with
the production system?
(a) N.R. Sheth {b) J.P. Trivedi (¢) Akshaykumar Desai

2. Which type of branch Industrial Sociology is, of general Sociology?
{a) Exclusive (b} Easy (c) Complicated

3. Who has studied the relationship between industry and society?
(a) Political sociology (b) Industrial sociology

(c) Sociology of the environment

4, Which type of recruitment is it called in which recruitment is done directly
from internal or external sources without using any medium?
(a) Indirect (b) Real {c) Both

5. What is the reason for the change of worker’s job?
(a) Low wages (b) The Question of accommodation

(c) Both

6. Which type of science basically Industrial Sociology is?
(a) Transaction oriented (b) Pure | (c) Product oriented

7. Who examined the relationship between economy and religion? |
(a) K. Marx (b) Weber (c) August Cont
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8. Who gave the definition of work as, “Work is with a certain goal in which
strength is consumed.”

{a) Oxford Dictionary (b)Srinivas {c) Robert Merton

Answer the following question (Any two)

1)  Give the definition of industrial sociofogy and state the problems seen

[in India. ’ (20)
2)  Explain the concepts of work, modernity and organization. (20)
3)  Explain the meaning and functions of a trade union. - {20}
4)  Explain the concept of economy and its archaic'view-point. (20)

Write a short note: (Any two}

1) Indqstriai cities. _ _ (11)
2) The effects of industrialization on caste. (1)
3)  The importance of industrial sociology. - _ (11}

4)  Industry and society. | _ (11)
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